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Note : Answer questions from all the sections as per

instructions given in each section.

Section–A

Attempt any Two questions from this section in about

500 words each. 2×20=40

1. It is often argued that the public sector in India has

failed to realise the stated objectives. Do you agree ?

Would you suggest total privatisation of industrial

sector ? Explain

2. Discuss the principal features of industrial policy adopted

in 1991. Critically evaluate the achievements and failures

of this policy.

3. Examine the advantages and shortcomings of the

liberalisation policy that open up the industrial sector to

MNCs.

4. Evaluate the principal sources of finance available to

Indian industry. What role do the Foreign Institutional

Inventors play in this regard ?

Section–B

Attempt any Four questions from this section in about

250 words each. 4×12=48

5. Explain the nature of inter-linkages between agriculture,

industry and service sectors.

6. What is meant by industrial sickness ? What are its

causes ? How can it be removed ?

7. Explain the principal features of the main pricing

practices adopted by the Indian industry.
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8. Failure to provide gainful employment to masses has

been the major failure of Indian industry. Suggest

measures to generate more employment opportunities

in this sector.

9. Examine the strengths and weaknesses of Indian industry

in the context of globalization.

10. Examine the significance of unorganised sector in the

Index economy.

Section–C

11. Write short notes on any two of the following in about

100 words each. 2×6=12

(a) Make in India

(b) Public Private Partnership

(c) Competitiveness of Indian Industry

(d) Market Structure

  EEC-07

Lukrd mikf/k dk;ZØe (chMhih)

twu] 2024

bZ-bZ-lh--07 : Hkkjr esa vkS|ksfxd fodkl

le; : 3 ?k.Vs vf/kdre vad : 100

uksV % lHkh Hkkxksa esa iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A

Hkkx–d

bl Hkkx esa ls fdUgha nks iz'uksa ds mÙkj nhft,A (izR;sd dk

yxHkx 500 'kCnksa esa) 2×20=40

1. vDlj ;g rdZ fn;k tkrk gS fd Hkkjr esa lkoZtfud {ks=

?kksf"kr mn~ns';ksa dks izkIr djus esa foQy jgk\ D;k vki blls

lger gSa \ D;k vki vkS|ksfxd {ks= ds iw.kZ futhdj.k dk

lq>ko nsaxs \ le>kb,A

2. 1991 esa viukbZ xbZ vkS|ksfxd uhfr dh eq[; fo'ks"krkvksa dh

ppkZ djsaA bl uhfr dh miyfC/k;ksa vkSj foQyrkvksa dk

vkykspukRed ewY;kadu dhft,A
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3. mnkjhdj.k uhfr ds ykHkksa vkSj dfe;ksa dk ijh{k.k dhft,] tks

vkS|ksfxd {ks= dks cgqjk"Vªh; daifu;ksa ds fy, [kksyrh gSA

4. Hkkjrh; m|ksxksaa ds fy, miyC/k foÙk ds izeq[k lzksrksa dk

ewY;kadu dhft,A bl lEcU/k esa fons'kh laLFkkxr fuos'kd

D;k Hkwfedk fuHkkrs gSa \

Hkkx–[k

bl Hkkx esa fdUgha pkj iz'uksa ds mÙkj nhft,A (izR;sd yxHkx

250 'kCnksa esa) 4×12=48

5. d`f"k] m|ksxksa vkSj lsok {ks=ksa ds chp varlZaca/kksa dh izd`fr dh

O;k[;k dhft,A

6. ^vkS|ksfxd #X.krk* ls D;k vfHkizk; gS \ blds D;k dkj.k

gSa \ bls dSls nwj fd;k tk ldrk gS \

7. Hkkjrh; m|ksx }kjk viukbZ xbZ eq[; ewY; (dher) fu/kkZj.k

izFkkvksa dh izeq[k fo'ks"krkvksa dk ijh{k.k dhft,A

8. yksxksa dks ykHkdkjh jkstxkj iznku djus esa foQyrk Hkkjrh;

m|ksx dh izeq[k foQyrk jgh gS\ bl {ks= esa jkstxkj ds

vf/kd volj iSnk djus ds mik; lq>kb,A

9. oS'ohdj.k ds lanHkZ esa Hkkjrh; m|ksxksa dh rkdrksa (cy) vkSj

detksfj;ksa (voxq.kksa) dk ijh{k.k dhft,A

10. Hkkjrh; vFkZO;oLFkk esa vlaxfBr {ks= ds egRo dk ijh{k.k

dhft,A

Hkkx–x

11. fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIi.kh dhft,A

(izR;sd ij yxHkx 100 'kCnksa esa) 2×6=12

(v) ^Hkkjr esa cukb,* dk;ZØe

(c) lkoZtfud&futh lk>snkjh

(l) Hkkjrh; m|ksxksa dh izfr;ksxkRedrk

(n) cktkj <k¡pk

***
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